Infant Toddler Outcomes Jeopardy Score Sheets

For use with the Infant Toddler ‘Outcome Jeopardy’ slide

Ttem #

My answer
(Outcome 1, 2,
or 3)

Correct answer

Were you right?
(score 1 for correct
answer, O for incorrect
answer)

Outcome 2 or 3, depending on the context
(Outcome 2 — use of communication; Outcome 3
— getting needs met)

Outcome 1, 2 or 3 depending on the context in
which he is telling his name (Outcome 1 if in
social situation; Outcome 2 if in response to a
question or Outcome 3 to get need met, such as
to find his mother)

W

Outcome 3

Outcome 1, 2 or 3, depending upon how biting is
affecting this child’s functioning (Outcome 1 if
no one will play because he/she bites, Outcome
2 if he or she is always in time out for biting and
misses the learning activities, Outcome 3 if it’s
associated with feeding issues)

(91

Outcome 1

(@)}

Outcome 2

Outcomes 1 and 2 (playing with a
friend=Outcome 1 and representational
play=Outcome 2)

The amount of sleep itself does not provide
information about any of the outcomes.
However, sleep can influence what is observed
related to any of the outcomes. Outcome 1, 2 or
3, depending upon how lack of sleep affects this
child’s functioning (Outcome 1 if he/she is too
sleepy to interact with others or influences his
frustration tolerance and responses to others,
Outcome 2 if he/she is too sleepy to participate
in learning activities and maintain attention,
Outcome 3 if he or she is too sleepy to get his or
her needs met or influences which skills
uses/how he tries to get his needs met).

Outcomes 1 and 3 (sharing=Outcome 1 and
participating in lunch=Outcome 3)

My total score

____of apossible 9
points
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